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Order of Operation (BIDMAS).

A.  Find the answer to these questions.

1. 7+6x2 2). 5x3+4 3. 9:3+5 4). 7-10+2
5). 7+12+4 6). 20+7-2 7). 12-42+6 8). 14+30+5
9). 19-15+3 10). 12+18+6 ). G+5)x2 12). 12+(7-3)
13). 15x(9-7) 14). (16-13)=3  15). (11+9)+4  16). 7+24+6
17). 22-6x3 18). 4x5-12 19). 40+(12-4)  20). (24-9)+3
21). 443 22). 17-4 23). 10-2° 24). 745

25). (3+2p 26). (14+2) 27). (6-20 28). 6-2
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Write out these questions and correct them by putting in one or two pairs of brackets.
Some may be correct already and therefore not need any brackets at all.

1. 3+1x5=20 2). 5-18+6=2 3). 7+4x3=19
4). 12-6x4=24 5. 6+20+5=10 6). 24+8+4=2
7). 5x9-7=10 8). 12-2x4=4 9). 7x3-10=11
10). 2+1%2=9 11). 7-32 =16 12). 14-2°=6

13). 27+3+6=3 14). 3x10-4=18 15). 12+8+5=4

16). 9x3-4=23 17). 1+42=17 18). 1+42=25




